Viola

I. Barcarolle

The still water mirrors the sky
A breeze splinters the world into a thousand glinting shards.
Above, in my boat, I remain.  from the Italian

Simply J. ca. 63
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II. The Impassioned Hand (Signing Song)

No matter they can’t read her gestures.
They want what I want. To listen anyway.  from The Husband’s Tale by David Huddle

Parlando, very freely. J ca. 58, with wide variability
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Viola

III Libe-Lid (Love Song)

Last night I went to a wedding
Many beautiful girls I saw there.

But none to compare to you, your black eyes, your black hair.  Traditional Yiddish
With intimate intensityJ =112
Graceful waltz feel throughout; the rhythm precise but never
pizz.
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